21

211

3. (Cost Driver)

564 25 2539

2539-2542"

12539-2542)

2539-254)



2111

12543)

. 1986-1987

(Activity-Based Costing) ABC
(Activity-Based Management) ABM
g
“ "

12543)



(Cost Driver)

1549

Non-Value Added Activities



“Out put”

‘ " “Activity
Center”
(. 12543)

L “Business Process"

Suppliers, 1

Output ~ Output Input
"Business Process"

2. (Responsibility Center)

Job Description

Job Description

4, Activity Dictionary
Activity Dictionary



(KPI)
IDEFQ 2 2
IDEF KPI
KPl  ABC
“Cost Element”
Cost Element
“Cost Mapping” (. 12543)

“Traceable  Cost”

10

Key Performance Index
IDEF

KPI

Remodeling

Model
2



“Arbitrary”

Driver”
Setup
Setup

Cost Mapping
( . , 12543)

“Activity Hierarchy"

(Causal Relationship)

“Transaction Driver” “Duration
Setup

: Setup

12543)

“Cost Object”
“Bill of Activity"

100%

12543)



12

2.1.1.2
(Activity - Based Costing)
ABC
ABC
2 (Two stages Allocation)
ABC
ABC
(. 12543)
89 ABC
.. 1988

" n The
Journal of Cost Management ~ Harvard Business Review .. 1991



13

(. 12543)

(Traditional Cost Management Systems)

(Overhead Costs)

“Labor Intensive”
“Capital Intensive”

(Function)

“Cost Element”

“Cost Element”



1,000,000
100,000
1,400,000
400,000
100,000
3,000,000

12543)

“Cost Element”

12543)

14



15

Cost Element Cost Element
Cost Element
Cost Element

1
2
2
(Printed Circuit Board)
(. 12543)
Cost Element
1,000,000 400,000
100,000 700,000
1,400,000 1,000,000
400,000
100,000 300,000
400,000
200,000
3,000,000 3,000,000
2
3



(Activity)

(Driver)
(Cost/ Driver)
9 "
70

5.56
15

40
100

200,000

= 400000 = 2
200,000

16



7

(. 12543)

(. 12543)

1-4

Aunun e 1$910a 10 Cost Element
y y
o o
w1 fonssufi 2 fonssud 3
Cost Driver Cost Driver Cost Driver
v y
- 'd
HaAN N
Y
AUNUNIATA ( Direct Costs )




(. 12543)

3-4

General Motors, Hewlett-Packard Siemens

“Cost and Benefit”

5-6

2113

100

(. 12543)

(Activity Driver)

(Activity Based Costing) ABC

(Regression Analysis)

18



Setup

2543)

Spreadsheet Program

Lotus 1-2-3

| 2543)

(Cause and Effect Relationship)

Process

Computer Software

19



20

(Coefficient  of
Determination) R2  R2

R2
(Dependent Variable) ( )
(Independent Variable) ( ) R2 0-100%
2
(3 , 2543)
3
12 ( )
( )
4 Lotus
1-2-3 3
Run Regression 3 2)

Output (Output Range)



O 0O N4 O O B~ LW DD -

s B S

155,000
160,000
170,000
165,000
185,000
135,000
145,000
150,000
180,000
175,000
190,000
200,000

985

1,068
1,09
1,105
1,200
1,160
1,145
1,025
1,115
1,136
1,185
1,220

1,060
1,080
1,100
1,200
1,600
1,100
1,080
1,090
1,300
1,400
1,500
1,700

twin '

200
225
250
202
210
150
165
180
204
206
208
212

imT



. Key 4 Lotus Worksheet

/DR
Cursor X-Range Option Return Key
(Observations) ( B3..B14)
Return Key (X-Range (
) )
Cursor Y-Range Option Return Key
(Observations) ( B3..B14) Return Key
(Y-Range ( )
)
Cursor Output-Range Option Return Key (Cell)
( A20)
Cursor Go Option Return Key Run
5 Lotus 1-2-3
6 Run

Run Lotus 1-2-3 3

Regression Results for
"Activity Costs with DL hours

Constant 919.02
std Errof Y Est 17,267.60
R Squared 0.29
No. of Observations 12
Degrees of Freedom 10

X Coefficient () 148.74

Std Err of Coef. 74.35



23

Regression Results for
Activity Costs with Machine hours :

Constant 72,7193.81
std Errof Y Est 9,799.08
R Squared 0.77
No. of Observations 12
Degrees of Freedom 10

X Coefficient () 74.72

Std Err of Coef. 12,91

Regression Results for
Activity Costs with No. of Setup

Constant 74,033.14
Std Errof Y Est 15,90.72
R Squared 0.39
No. of Observations 12
Degrees of Freedom 10
X Coefficient ( ) 465.00
Std Em of Coef. 182.47
Run Lotus 1-2-3
R? Run Lotus 1-2-3

7%

9%  29% 0



24

6 (Constant)

, X (X
Coefficients)
1
= 72,794 + (74.72X )
( ) 12,794
74.72
2
(Engineering  Methods)
2
2
2
2
(Regression though Origin)
1-4
2 X-Range (

) Cursor Intercept Option Return Key



2543)

Zero Option Run Regression

= 13048 X

130.48

(
Regression Results for
;Activity Costs with Machine hours

Constant 0.00
Std Errof Y Est 15,966.99
R Squared 0.33
No. of Observations 12
Degrees of Freedom 1
X Coefficient ( ) 130.48
Std Err of Coef. 3.58

T Regression Results for Activity Costs with DL hours

25



: (. 12543)

1
(Multiple Regression)
Lotus 1-2-3
Option
(. , 2543)
X-Range
( C3.D14)
Regression: Results for
Activity Costs with Machine hours
And No. of Setup
Constant 19,769.43
std Errof Y Est 4,951.11
R Squared 0.95
No. of Observations 12
Degrees of Freedom 9
X Coefficient () 6544 32221
Std Err of Coef, 6.74  58.66



(X-Coefficient)

= 19,796.43 + (65.44 X )
+ (32221 X )
19,796.43
65.44 32221 R
959% R2
(17%)

27



Intercept

Regression Results for
Activity Costs with Machine hours
And No. of Setup through Origin

Constant 0.00
Std Errof Y Est 5,285.53
R Squared 0.93
No. of Observations 12
Degrees of Freedom 10
X Coefficient () 69.99  390.75
Std Err of Coef. 647 4110
9
9
= (69.99 X )
+(390.75 X )
69.99
390
( X-Coefficients)
12

{-test

28



29

std Err x-coefficient , ‘ Absolute Value
t-test 2

test 58 (74.72/12.91)

(. 2543)
R2
EeyEEEIE
0.85 0.46 0.68 0.45 0.82
( ) 0.38 0.88 0.90 0.75 0.43
0.30 0.28 0.38 0.22 0.43
10 R

R2



ABC
1
Highly Correlated)
2.
ABC

ABC

(Proportionality)

ABC
| 2543)

Homogeneity

30

1 2543)

(Homogeneity or



31

2
Proportionality
(

Nonlinear Costs) Learning
Curve Proportionality
Proportionality

Homogeneity Proportionality ABC
(
2543)
2 (Dependent

Variable) (Independent Variable)
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(Simple Regression)

(Multiple Regression)

( . 12540; 224-
248)

(Simple Linear Regression)

Y, = |

(x, 1yD, (x2,y2 1............ (xnlyn)

(30 y



33

Y=Po+ Pixi 1=1.2.... N

Deterministic Mathematical Model
y X

y=P.+PX

y=Po+ PiXi+ e

Probabilistic Mathematical Model

p0 Pl
y X
€ y y e=y-y"
yA y
e
e 0
G2
e
yI X y X
\Iy\ X y X



34

= HPo+Pix+d

= E(p0+pX) +E(e)
- R+PIX40
= PotPIX
Iy x= Po+PA yoox
x oy
Po = y Ey) x=0
P1 = y = E(y)
X 1
Po P, (Population
Regression Coefficients )
(Population Mean) M x=p,*p,X
1 ( Tff-~ce) X
2. e
y
A +Pix
( . 12540: 224-248)
A TA
X y

X y (Scatter



Diagram)
1
y
<1V by\*i
ho
A
[l

35

(Least Squares)

[ ) o000 X i

00 01

00 - 3

01-0

Myix, =d +bX,

y ~bylx

) '1|:_1iy.-ia +hx1)2

Minmize ]T{y, - (@+bx1)2=5

JCT000a0



f'C% 2YSyl-a - hx) =0

jAyl1=na+bhj*x1 .

1-a-bx Jp<)= Q

Mx o lyl=ajrtx 1+ bfrxA

2
b:nt xiyi-[tx][(tyA\
"ERI2-[|> 1

p"-XfO-y)

tAtyi-tAtAry 1

( \ 2
\i=l
(+*]\-
EY na+b =
v y
y =a+hx
a=y-bx
-2
(M Ayixy

36



\lelc

/7-2 P f-
nf, (¥-1 *)2
al =M |y *)2

22
14

12540: 224-248)

59
58
56
53
50

a 1b

37



228

17
18
24
19
23
26
40

12

59
58
56
53
50
45
43
42
39
38
30
21

540

12

XV
472

348

616
1166
700

765

174
1008
741

874
780
1080

9324

45
43
42
39
38
30
21

X2

64
36
121
484
19
289
324
576
361
529
676
1600

5256

2
y

3481
3364
3136
2809
2500
2025
1849
1764
1521
1444
900
29

25522

38



np>yl-{th){tyl
pi-{p.J

O [12(9324)-(228X540)]

12(5256)- (228)2

=.1.013
a-x-bx
N 40N | o 228\\
= 24764
LN
|
: V}:lr y
h., PO

(25522 - (540)2) 112 - f-11 137(-11232) /10

-27.383

al fIy\x

Y\, =a +Dbx

=64.247-1.013*

Ay \x X 12

13

39



40

13

' Y eyi - 64.247-1.013 .
8 59 56.143 2857 1624
b 58 58.169 0.169 0.0286
11 56 53.104 2,89 .3868
2 53 11,91 11,039 1218595
14 50 50,065 0,065 0.0042
17 5 47,026 2.026 4.1047
18 13 46,013 3013 9.0782
2 12 39,939 2,065 4.2642
19 39 45,000 -6.000 36.000
23 38 40,948 2.948 8.6907
2 30 37.909 7,909 62.5523
10 27 23,721 3273 10.7125
228 540 0.000 2738441
13
a 2= 213.844/10
=21.38441
( . 12540; 224-248)

2.1.2

ABC



(Measurement Costs)
ABC

(. . 2543)

(Cost of Errors)

2.

(Optimal Cost System)
Measurement Costs
Measurement Costs

(

Measurement Cost

12543)

12.1

3
(Ideal Cost System)
Cost of Errors
Costs of Erors
) Measurement Costs
( Cost of Erors

(Diminishing Returns)

)

41



42

Cost of Errors

Measurement Costs
!
20%
(. , 2543)

] (Marginal - Costs) (Marginal
Benefits)

Measurement Costs Measurement Costs

Cost of Erors (Optimal

Cost System)
Optimal Cost System
(Marginal Cost of an Improvement)
(Marginal Benefits of the Improvement) (
) 2 a
Optimal Cost System (
Optimal Cost System) (. , 2543)



4 .

Errors

High 4
Total Cost
Cost
Costof Errors : Meausrement Costyg
Low 1
v |
Optimum
Point
4 Low Accuracy High—-“.
2
2 Optimal Cost System
Measurement Costs, Cost of Errors
Measurement Costs
Optimal Cost System 3
Cost of Errors (
Optimal Cost System

12543)

43

Optimal Cost System

2543)

Cost of
(.



High
Cost

Meausrement
Low Costs

b a
4 Low Accuracy High
Prior valups
v J
3 Measurement Costs
High
Total Cost

Cost

Meausrement
Low Costs

4 Cost of Errors

44



2122

Measurement Costs, Cost of Errors

ABC
« Measurement Cost
Measurement Costs
ABC
Measurement Costs
L
2.
3. (Special Studies)
(Relevant Costs)
Measurement Costs
Electronic
( )
Production Runs
(. , 2543)

Measurement

Costs (Cost per Calculation)



Measurement Costs

ABC
Run ABC  Facility
Run ABC
20 (.
+ Cost of Errors
EQ  Costof Erors ?
)
£3  Cost of Errors 2

1

1 2543)

46

10



the Decision)

ABC

Batch

)

47

(Scope of
(Design of the Cost System)

ABC

Unit, Batch, Product Facility

ABC ( .

ABC

Batch Product

2543)

ABC

(Cost Function)

2543)



Errors

Competition)

48

Cost of Errors
Cost of

Profit Margin

(Creative



20%

(Deregulation)

(Transferred pricing)

49



12543)

1 2543)

160

(Overhead)

(

ABC

| 2543)

(Production Line)

50



(Average Product Costs)

(Niche Marketing)

Specialty Shop
(High - Volume Products)

Manual

(Support Overhead)

(Low - Volume Products)

51



52

)
(
Batch 51)
101
(
Lot )
( Lot 2-3  10-20 )
( )
Program

(Setup)



(. | 2543)

Measurement Costs, Cost of Errors

2-3

ABC

- " | 2543)

2123 (

10

12543)

53



ABC
ABC (
)
ABC
Optimal Cost System (
,  Cost of Erors, )
(Adequacy)
ABC
ABC
ABC
Measurement Costs
Measurement Costs
ABC (. , 2543)

‘ ABC

ABC ABC

54



Cost of Errors

ABC

| 2543)

ABC

55



56

2.1.3

2131 ABC
J ABC
2 (Cost
Pool) 2 (
5)
2
(.
12543)
/ \

1
[ st ]
| 1

[ /51104 Outputs ]




ABC
ABC
output
ABC
[ NIWENT
[ nangsu
[ Outputs J
6 2
ABC (

(allocation base)

(arbitrary allocation)

ABC

(activity driver)

57

ABC



58

ABC

ABC 2
ABC (Activity Center)
2
ABC
(
)
(. , 2543)
& ABC 4
1 Unit
2. Batch Batch
(
) Batch
Batch
3. Product - sustaining
model

hatch



(%5

Facility - sustaining

batch
(common  cost)
Batch
unit ES , 2543)
2.1.3.2
ABC
ABC
1 4
(
7 (10%
(10 ) (15
(120 1) (125
Batch) (500 )

)

59



14

14
batch product

15
15

(
( ) (
( )

Unit
Unit
Unit
Batch
Batch
Batch
Product

15

60

Unit

15

Unit



15 (" )
unit
80 5
600 50
180 15
1,800 150
2,640 220
264 2,200
() 5.764
5 4511
50 4511
5 4511
150 4511
220

5
50
15
150

220
3,300

225.55
2,255.55
676.65
6.766.50
9.924.20

setup

W = W

960

22.56
22.56
67.67
67.67

batch

W = W

8
1,000

W = W

8
200
2.160

61

product

[ et VU SEENG TE

4
2,000
2.000
9,924

= 9,924

= 20

=45.11



T

mmEBMSEEU m

50
15
150

i

unit; :

26.20
26.20
26.20
26.20

©ounit

131
1,310
393
3,930

131
1,310
393
3,930

batch

270
810
210
810

(l
5,764
200

26.20

Setu

X

P

1"

210
210
270
210

500
500
500
500

62

ABC
batch: : 1 product
() o '}
2,160 2,000

8 4
270.00 500.00
product
270 1 500 500
810 1 500 500
270 1 500 500
810 1 500 500
901 90.10
2,620 26.20
1,163 116.30
5,240 52.40



12543)

10

2056
6767 )

(Economies of scale)

12543)

)

ABC

unit

63



batch
unit
ABC
(. , 2543)
ABC
ABC
unit 1
unit 3
1
2
(
) batch
batch
113 n 4
ABC 2
ABC

ABC

product
unit
Batch 3
3

64



Batch

ABC |

Batch

ABC

1543)

| 2543)

12543)

10

65



-~ s -~ -
(PR 1K RRIZIIM]

MITATLANUTINUNNAN

66

nadAIesdns
NSFTENNSHAR
nadiite
nseuEnengAL
mnszneyfudau
| I I
NANFUNUITAY Unit NANFUNUITAL Batch NENFUYMIEAL Product
mﬁm‘%ﬁmqﬁu NAGTENNNINER mnlsznevidudou
NNIAANUINTUN WA nnsdee
naduATesdng nsugnedngRy
1 T
2
1
5 (.

1543)




16

il
fis t

67

(
) ( ) 16
4
2 )
unit batch
product
B p il
[H1B 1 SEp ® 1B 1l
0 5 5 1 1 1 1
600 1) ) 3 3 3 1
660 % % 4 4 4 %
66 %0 85 Q0 50 100 1000
M4 108 10 352
IE
5 64.02 320.09 32,01 = 3,521
50 64.02 32 .91 3201 +5%
= 64.02



“111111:

5 26.20 131

50 26.20 1,310
batch
unit
131 270
1,310 810

(32.10 )

16( )

1,441

26.20

batch

Setup

1 210
3 210

product

500 01
500 2,620

16

210
810

ABC

1,080

210.00

90.10
26.20

68

1,000

500.00

product

500
500

500
500

181.48%
-18.15%



(58.21)

ABC

ABC

batch
(.

1)

17

(

Pro-duct

ABC

16
)

)

12543)2

26.20

5240

(

116,30
1)

15 16

69



70

17 2 )
unit hatch
product
setup - mt
B P : ]
[fillt 180 15 15 1 1 1 1
1,800 150 150 3 3 3 1
- | 1,980 165 165 4 4 4 2
198 1,650 2475 480 500 100 1,000
; 7 4323 1,080 1,000 6,403
7 |
« |
JIFII: 15 381 582.09 85.21 6,403
150 3881 5.820.91 58.21 T 165
= 3881



«

unit

15 26.20 393

150 26.20 3,930
butch
unit
f-ff]|§1;f 393 270
) 3,930 810

4,323
165

26.20

Setup

product

500
500

17()
- i
tch
270 270
270 810
1,163
5,240

ABC
ne(
1,080 1,000
4 2
270.00 500.00
product
1 500 500
1 500 500
)
116.30 99.80%
52.40 -9.98%



18

18 3
111111 o0
' 1 180
1l 240
2%
Ml
fl 5
fl 15

SN E o

8
)
unit batch
product
IBBE
setup
5 1 1 1 1
5 1 1 1 1
| 2 2 4 2
0 240 A M 1,000
h24 50 1000
103.20 516 51.60
103.20 1548 154.80

2,064

2004

=2,064
1-2
=103.20



73

18( )
3 () ABC
I |
524 540 1,000
ifta 20 2 2
1! 26.20 270.00 500.00
» unit hatch product ( :;
Setup
5 26.20 131 1 270 270 1 500 500
15 26.20 393 1 270 810 1 500 500
' 1
batch T::product : I
unit
131 2170 500 901 90.10 74.61%

[TTTTEE 393 270 500 1,163 116.30 34.87%



)
batch product

) 51,60
154.80

19.95
ABC
26.20 5240

ABC

unit

90.10

ABC

ABC

(cross subsidy)

19

15

unit

18

116.30

74

ABC



ABC

batch
unit

2549)

2.1.33 (
)
ABC
unit
product)
unit ABC
4
(. 12543)
1
2 (
) 2
ABC 90.10
22.56
2
ABC 52.40
67.07

75



52.21

15.27

(010/2540)
6754 (90.10-22.50)

(67.54-15.27)

(

76



U

2.2
1. . (2542)
Activity Based Costing Conventional Costing
2
1)
2)
(ABC)
2. (2542)
activity-based costing system
curtain wall
3. (2542)
IDEF0

Activity Based Costing
Output Input



78

IDEFO IDEFO

4, (2539)
Reengineering
Reengineering
Reengineering

Activity Based Costing
5. NitSummapan (2541) Activity
Based Costing (management) (human
resource development) Activity

Based Costing
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